o B — B X (IPEH)
SHISESA24E $4T

1 % % % ARTFKEERMERNE MR EEEE (R5-1) AN SE=T EHP
2% & &  E®mw¥LT, 998, 200
3% & fi e ¥17,998, 200
4 AL B KB @ ¥16, 362,000 (RAKFIFRAEAE ¥12, 784, 000)
e MU e (51 m) 20 30 R R B =
| [BREUMRTHAMERE | 15 g70 0
5 ii&éywva‘/bﬁﬁ% 16, 300, 000
3 [ e T 15,900, 000
4 F’Eég%%vyﬁﬁ%&)\ 15, 900, 000
5 [HRASERAKEREER 16 10, 000
s [FRIEEE M 15,900,000
7 (BREEEZ Y=V 16, 000, 000
g |FEREHMBRIAMES | 15200, 000 16,720, 000 %L
9 Q}%—Jl/l\”)"j‘—f‘lﬁaﬁ%’ 16, 300, 000
10
11
12
13
14

HREBIZOWTIX, HERKROHGHEBR O (

¥1,520,000 ) =&,




.o B O — B xR (HpEH)
SHSESH24H #47

1 T EE % BEREERERS-14) ARIHAS LRI
28 % &  #E®e»¥9, 941, 800
3 F & {i & @2 ¥9, 941, 800
4N ALOE BB ORG¥9, 038, 000
A=A MBI Gm s 1m) #520m] H30m] Rk R B B
| |ttt Ny TEAE 58
) [FREHTRLIE LR .
3 |[MAEHER THEAE 8,220,000
4 |tR et A s Gl
b |EMREMEFERAE 8,000, 000 8, 800,000 &AL
6
7
8
9
10
11
12
13
14

HREBIZOWTIX, HERKROHGHEBR O (

¥800,000 ) &L,




AL R O — E OF (HPEH)
SASESH 248 BT

1 % % % HE T EREREERETT AR AR E A

2 2% 2t & %6 %2 ¥3, 804, 900

3% & fi @ ¥3, 804, 900

FE
4 A KL OE OH OB G R¥3, 459, 000

SHEE MUERL s (1 m) 0 53 B B e -

| R R AR E 3,100,000 3,410,000 &AL

9 E;ﬁlﬁﬁﬁ%ﬁitﬁa%ﬁ 3’ 240’ 000

3 |MREHILOEEAE 3,200,000

10

11

12

13

14

HREBIZOWTIE, HEB KOG HEERDOHE ( ¥310,000 ) =&T,




ro& B — B KR (HIMEHR)
SHSFESH24H #4T

1 2% % % NNNCEE v AR EREER— T B4t
2% 3 & E®m»Y3, 305,500
3% & ffi e ¥3, 305,500
4A LB B OB G Y3, 005,000
P MUEER S (1 m) 520 30 R R e % =
][R E AL ARG 2,970,000
2 [EREH AL BEEAE 3,200, 000
3 (MRS IO RASE 2,700,000 2,970, 000] v&#L
4
5
6
7
8
9
10
11
12
13
14

HREBIZOWTIX, HERKROHGHEBR O (

¥270,000 ) &&L,




AL R O — E OF (HPEH)
SASESH 248 BT

1 % % & HEKERIABRESLRZE (R5-6) AR AR F A H A

2 3 & #mn ¥, 293, 600

3 % E {i & @) ¥1, 293, 600

FE
4 A ML E B B e Y], 176,000

SHEE MUERL s (1 m) 0 53 B B e -

| | R R AR 1,170,000 1,287,000 w4

2[RRI AE 1,240, 000

3 |MREHILOEEAE 1,200,000

10

11

12

13

14

HREBIZOWTIE, HEB KOG HEERDOHE ( ¥117,000 ) =&T,




